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Solve the system of equations
by graphing.
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Write each equation as y=
Graph each line
Find where the lines cross
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Solve the system of equations
by graphing.
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Write each equation as y=
Graph each line
Find where the lines cross
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Solve the system of equations
by graphing.

;XW% > a%x

Write each equation as y=
Graph each line

Find where the lines cross
Since these lines are the same, it is infinite solutions
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Solve the system of equations
by graphing.
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Write each equation as y=

Graph each line

Find where the lines cross

Since these lines will never cross, it is no solution




